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e 6. 50 1.65 5. 30 0.30]  106.0 0.0 0.0 106. 0 106. 0| 7 7 /v ML
88.8 98~ 8.0 0 6. 20 0. 00 2. 00

4 T VLR SR/ LT 5. 80 1.65 4. 40 2.60|  107.0 0.0 0.0 107. 0 913, 0|7 A7 7 /v M
8.0 0~  89.1 0 6. 50 0. 00 0. 90

] LB SO L BT 7.00 3.05 7.15 0. 40 19.0 0.0 0.0 19.0 932.0 ;27@7@” &
89. 1 0~ 8.1 19 6. 50 0. 00 0. 40

4 ] LR SR L BT 3. 50 0. 00 0. 00 2.00 0.0 0.0 61.0 61.0 293. 0 ;27@7@” &
8.1 19~  89.1 80 4.00 0. 00 2. 00

0 ] LR SR L BT 7.00 3.05 7.15 0. 40 22.0 0.0 0.0 22.0 315. 0 ;;ﬂjﬁj’%gﬁi
8.1 80~ 892 0 6. 50 0. 00 0. 40 ka4

i i S ORI LT 700 3.05|  7.15| 0.0  85.0 0.0 0.0 85. 0 400, 0|2 5 0 7
89. 2 0~ 89.3 0 6. 50 0.00 0. 40 NS

i I L A/ LT 7.000 305 715 0.40[  99.0 0.0 0.0 99. 0 499, 0|2 5 0 7 P
89.3 0 ~ 89. 4 0 6. 50 0. 00 0. 40 RS

4 7 UL 5 ORI/ LT 4.10 0. 00 0.45 0.70 97.0 0.0 0.0 97.0 596. 0 ;;é@;;@ﬁt
8.4 0~ 8.5 0 6. 50 0. 00 0.55

] LR HORR I LT 4.10 0. 00 0. 45 0.70]  100.0 0.0 0.0 100. 0 696. 0 ;;é”” P,
8.5 0~ 896 0 6. 50 0. 00 0.55

] LR HEOR I L BT 6. 50 0. 00 0. 45 0. 20 58.0 0.0 0.0 58. 0 754. 0 gé{fﬁ”” P,
8.6 0~  89.6 58 6. 50 0. 00 0. 20

] LR SO L BT 6. 50 0. 00 0. 50 0. 25 1.0 0.0 144.0 145. 0 899. 0 2;%7” P,
80.6 58~  89.8 2 6. 50 0. 00 0.25

] LR SR L BT 6. 50 0. 00 0. 45 2.40]  102.0 0.0 0.0 102.0] 1,001, 0|7 A7 7 /v M
8.8 2~ 8.9 0 6. 50 0. 00 0. 50

0 ] LR SR L BT 6. 50 0. 00 0. 45 2. 40 72.0 0.0 0.0 72.0|  1,073.0|7 27 7V MR
8.9 0~ 8.9 T2 6. 50 0. 00 0. 50

4 ] LS HRORT /I LT 6. 50 0. 00 0. 50 0.25 0.0 0.0 53.0 53.0|  1,126.0|7 7 7V Pl
80.9 72~  90.0 14 6. 50 0. 00 0.25
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e 6. 50 0. 00 0.45 0. 60 29. 0 0.0 0.0 29.0|  1,155.0|7 X7 7V M=
90.0 14~  90.0 43 6. 50 0. 00 0. 70

4 T VLR SR/ LT 6. 50 0. 00 0. 45 0. 35 0.0 0.0 21.0 o1.0| 1,176, 0|7 A7 7 /v Mk
90.0 43~  90.0 64 6. 50 0. 00 0. 50

] LB SO L BT 6. 50 0. 00 0.45 0. 60 16.0 0.0 0.0 16.0] 1,192, 0|7 A7 7V Pk
90.0 64~  90.1 0 6. 50 0. 00 0.70

4 ] LR SR L BT 6. 50 0. 00 0.45 0. 60 51.0 0.0 0.0 51.0|  1,243.0|7 27 7V MR
90. 1 0~  90.1 51 6. 50 0. 00 0.70

0 ] LR SR L BT 6. 50 0. 00 0. 50 0.25 0.0 0.0 21.0 o1.0| 1,264 0|7 27 7V M
90.1 51~  90.1 72 6. 50 0. 00 0.95

4 ] LS SRCRF /I LT 6. 50 0. 00 0. 45 0. 60 27.0 0.0 0.0 27,0 1,201 0|7 A7 7V Pl
9.1 72~ 90.2 0 6. 50 0. 00 0. 70

54 00 UL G5 ORI/ LT 6. 80 0. 00 0.45 0. 80 97.0 0.0 0.0 o7.0|  1,388.0|7 A7 7 /v Mk
90. 2 0~  90.3 0 6. 70 0. 00 0. 80

[ VRIS BRORR /)N (L HT 6. 60 0. 00 0.45 0.50 100. 0 0.0 0.0 100. 0 1,488.0|7 27 7V h#i%e
9.3 0~ 90.4 0 6. 60 0. 00 0. 50

] LR HORR I LT 6. 60 0. 00 0.45 0. 50 50. 0 0.0 0.0 50.0|  1,538.0|7 27 7 /v Ml
9.4 0~ 90.4 50 6. 60 0. 00 0. 50

4 ] VLGRS SR/ LT 6. 50 0. 00 0. 50 0.75 0.0 0.0 151.0 1510 1,680, 0|7 A7 7 /v Mk
90.4 50~  90.6 3 6. 50 0. 00 0.75

] LR SO L BT 6. 60 0. 00 0.45 0.55 98.0 0.0 0.0 98.0| 1,787.0|7 A7 7 /v Mk
90.6 3~  90.7 0 6. 60 0. 00 0.55

] LR SR L BT 6. 60 0. 00 0.45 0.55 97.0 0.0 0.0 o7.0| 1,884, 0|7 27 7 /v M
90.7 0~  90.8 0 6. 60 0. 00 0.55

0 ] LR SR L BT 3.95 0. 00 0. 00 1.20 99. 0 0.0 0.0 99.0| 1,983 0|7 X7 7 /v M
90.8 0~  90.9 0 3.95 0. 00 0. 80

4 ] LS HRORT /I LT 3.25 0. 00 0. 00 1.20 23.0 0.0 0.0 23.0| 2,006 0|7 27 7V Pl
9.9 0~  90.9 23 3.25 0. 00 0. 80
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e 3.25 0. 00 0. 00 0. 50 2.0 0.0 105 107. 2,113. 0/ 27 7 /v M
90.9 23~ 9l 31 3.25 0. 00 0. 50

] LR HEOR I L BT 3.25 0. 00 0. 00 1.00 67.0 0.0 0. 67. 2, 180. 0 géé"” P,
9.0 31~ 9L 0 3.25 0. 00 2. 70

FAGL 7 e NI 3.15 0. 00 0. 00 0. 25 5.0 0.0 0. 5. 2,185.0| 20 ) 7" tf@ﬁ
91.1 0~ 9l 5 3.35 0. 00 0.25

el SR SRR IS LT 3. 50 0. 00 0. 00 0. 70 .ol 266.0 0. 267. 2,452.0| 207" rfzi
91.1 5~ 9l 71 3. 50 0. 00 0. 20

0 ] LR SR L BT 3.25 0. 00 0. 00 0. 50 48.0 0.0 0. 48. 2,500, 0|7 X7 7 /v M
91.3 71~ 9L 0 3.95 0. 00 0.55

4 ] LS SRCRF /I LT 3.25 0. 00 0. 00 0.50]  124.0 0.0 0. 124. 2,624, 0|7 X7 7 /v Ml
9.4 0~ 9l 0 3.25 0. 00 0.55

54 00 UL G5 ORI/ LT 3.25 0. 00 0. 00 0. 50 36.0 0.0 0. 36. 2,660.0| 7 7 /v Mk
9.5 0~ 9l 36 3.25 0. 00 0.55

[ VRIS BRORR /)N (L HT 3.25 0. 00 0. 00 0.50 1.0 0.0 247. 248. 2,908. 0|7 *7 T h#i%e
9.5 36~ 9l 11 3.25 0. 00 0. 50

] LR HORR I LT 3.30 0. 00 0. 00 1. 50 89. 0 0.0 0. 89. 2,997. 0|7 *7 7 /v Ml
9.8 11~ 9l 0 3.25 0. 00 1.70

4 ] VLGRS SR/ LT 3. 30 0. 00 0. 00 150  109.0 0.0 0. 109. 3,106, 0|7 *7 7 /v Ml
9.9 0~ 92, 0 3.25 0. 00 1.70

4 ] VLR HER /N LT 3. 25 0. 00 0. 00 0. 55 53.0 0.0 0. 53. 3,159, 0|7~ 7 7 /v Ml
92.0 0~ 92, 53 3.25 0. 00 0.45

] LR SR L BT 3.25 0. 00 0. 00 0. 50 1.0 0.0 219 220. 3,379, 0|7 27 7 /v MR
92.0 53~ 92, 84 3.95 0. 00 0. 50

0 ] LR SR L BT 3.25 0. 00 0. 00 0.55 13.0 0.0 0. 13. 3,392, 0|7 * 7 7 /v M
92.2 84~ 92, 0 3.95 0. 00 0.45

[ VR 5% SRORR /)N (LI HT 3.25 0.00 0.00 0.55 102.0 0.0 0. 102. 3,494, 0|7 27 TV b Al
92.3 0~ 92, 0 3.25 0. 00 0. 45
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e 3.25 0. 00 0. 00 0.55 98. 0 0.0 0. 98. 3,502, 0|7 * 7 7 /v M
92.4 0~ 92, 0 3.25 0. 00 0. 45

4 T VLR SR/ LT 3.25 0. 00 0. 00 0.25 28.0 0.0 0. 28. 3,620, 0|7 7 7 /v M
92.5 0~ 92, 28 3.35 0. 00 0.25

] LB SO L BT 3. 50 0. 00 0. 00 0. 20 0.0  402.0 0. 402. 4,022, 0|7 A7 7 /v M
92.5 28~ 92, 29 3. 50 0. 00 0. 20

el SR SRR IS LT 3.25 0. 00 0. 00 0. 20 57.0 0.0 0. 57. 4,079.0| 227" rfzﬁ
92.9 29~ 92, 86 3. 45 0. 00 0. 20

0 ] LR SR L BT 3. 50 0. 00 0. 00 0. 20 0.0 2480 0. 248. 4,327, 0|7 A7 7 /v M
92.9 86~ 93 32 3. 50 0. 00 0. 20

4 ] LS SRCRF /I LT 3.30 0. 00 0. 00 1.20 83.0 0.0 0. 83. 4,410, 0|7 7 7 /v Ml
93.2 32~ 93 0 3. 30 0. 00 1.25

54 00 UL G5 ORI/ LT 3.30 0. 00 0. 00 1.20 87.0 0.0 0. 87. 4,497. 0|7 *7 7 /v Mk
93.3 0~ 93 0 3. 30 0. 00 1.25

545 0 WL B SRR /) L T 6. 55 1.00 0. 00 3. 80 97.0 0.0 0. 97. 4,594. 0|7 A7 7 /v Mk
93.4 0~ 93 0 3.25 1..00 1.65

] LR HORR I LT 3. 90 0. 00 0. 00 0.90] 1010 0.0 0. 101. 4,695, 0|7 27 7 /v Ml
93.5 0~ 93 0 3.75 0. 00 1.10

4 ] VLGRS SR/ LT 3.90 0. 00 0. 00 0.90|  100.0 0.0 0. 100. 4,795, 0|7 27 7 /v M
93.6 0~ 93 0 3.75 0. 00 1.10

4 ] VLR HER /N LT 3. 80 0. 00 0. 00 0.90 97.0 0.0 0. 97. 4,892, 0|7 27 7 /v M
93.7 0~ 93 0 4.00 0. 00 1.10

] LR SR L BT 3. 80 0. 00 0. 00 1.15|  103.0 0.0 0. 103. 4,995, 0|7 A7 7 /v M
93.8 0~ 93 0 4.00 0. 00 1.10

0 ] LR SR L BT 3. 80 0. 00 0. 00 .15 98. 0 0.0 0. 98. 5,003, 0|7 27 7 /v M
93.9 0~ 94, 0 4.00 0. 00 1.10

4 ] LS HRORT /I LT 3. 80 0. 00 0. 00 1.30 99.0 0.0 0. 99, 5, 192. 0| A7 7 /v M
94.0 0~ 94 0 3.85 0. 00 0. 90
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e 3.80 0. 00 0. 00 1.30|  101.0 0.0 0. 101. 5,203. 0|7 * 7 7 /v M
94. 1 0~ 94 0 3.85 0. 00 0. 90

4 T VLR SR/ LT 3.70 0. 00 0. 00 0.70|  100.0 0.0 0. 100. 5,393, 0|7~ 7 7 /v Ml
94.2 0~ 94 0 3. 70 0. 00 0. 70

] LB SO L BT 3. 60 0. 00 0. 00 0.70]  102.0 0.0 0. 102. 5,495, 0|7 7 7 /v Ml
94.3 0~ 94, 0 3. 60 0. 00 0.70

4 ] VLR SR/ LT 3. 50 0. 00 0. 00 1.00 95. 0 0.0 0. 95. 5,590, 0|7 * 7 7 /v Ml
94.4 0~ 94, 0 3.50 0. 00 0.70

0 ] LR SR L BT 3.00 0. 00 0. 00 1.00|  101.0 0.0 0. 101. 5,601, 0|7 *7 7 /v Ml
94.5 0~ 94, 0 6. 00 0. 00 0.70

4 ] LS SRCRF /I LT 5.95 1.80 0. 00 0.65| 101.0 0.0 0. 101. 5,792, 07 X7 7 /v M
94.6 0~ 94 0 6. 90 0. 00 0.55

54 00 UL G5 ORI/ LT 6. 80 1.80 0. 00 0. 65 85.0 0.0 0. 85. 5,877.0|7 7 7 /v M
94.7 0~ 94 0 6. 80 0. 00 0.55

[ VRIS BRORR /)N (L HT 6. 80 1.80 0. 00 0.65 114.0 0.0 0. 114. 5,991.0|7 *7 7 h#i%e
94.8 0~ 94 0 6. 80 0. 00 0.55

] LR HORR I LT 6. 80 1.80 0. 00 0.65| 103.0 0.0 0. 103. 6,004, 0|7 7 7 /v Ml
94.9 0~ 95 0 6. 80 0. 00 0. 50

4 ] VLGRS SR/ LT 6. 80 2.75 0. 00 0. 65 98. 0 0.0 0. 98. 6,192. 0|7 7 7 /v Mk
95.0 0~ 95, 0 6. 80 0. 00 0.55

4 ] VLR HER /N LT 6. 60 2. 50 0. 00 0. 65 93.0 0.0 0. 93. 6,285. 0|7 7 7 /v Mk
95. 1 0~ 95 0 6. 65 0. 00 0.55

] LR SR L BT 6. 50 2. 50 0. 00 0.50]  103.0 0.0 0. 103. 6,388, 0|7 %7 7 /v M
95.2 0~ 95 0 6. 50 0. 00 0. 80

0 ] LR SR L BT 6. 50 1.50 0. 00 0.50] 115.0 0.0 0. 115. 6,503, 0|7 X7 7 /v M
95.3 0~ 95 0 6. 50 0. 00 0. 50

4 ] LS HRORT /I LT 6. 50 1.50 0. 00 0. 50 19.0 0.0 0. 19. 6,522, 0|7 X7 7 /v Ml
95.4 0~ 95, 19 6. 50 0. 00 0. 50
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4 T VLGRS SR/ (LT 6. 50 1.50 0. 00 1.00 1.0 0.0 178.0 179.0] 6,701, 0|7 *7 7V M=
95.4 19~ 955 176 6. 50 0. 00 2.00

4 T VLR SR/ LT 6. 50 1.50 0. 00 0. 50 25.0 0.0 0.0 95.0|  6,726.0|7 X7 7 /v Mk
95.5 76~  95.6 0 6. 50 0. 00 0. 50

4 ] VLR SR/ LT 6. 50 2.05 0. 50 0. 50 88.0 0.0 0.0 8s.0| 6,814 0|7 27 7/v Mk
95. 6 0~ 957 0 6. 50 0. 00 0. 65

4 ] VLR SR/ LT 6. 50 2.90 0. 50 0.50 98.0 0.0 0.0 98.0| 6,012 0|7 A7 7 /v M
95. 7 0~  95.8 0 6. 50 0. 00 0. 65

4 VLB SR/ (LT 6. 50 2.90 0. 50 0. 50 22.0 0.0 0.0 92.0| 6,934, 0|7 27 7/v M
95. 8 0~ 958 22 6. 50 0. 00 0. 65

4 ] LS SRCRF /I LT 6. 50 2.85 0. 50 2.35 1.0 0.0 25.0 26.0|  6,960.0|7 27 7 /v Pl
95.8 22~  95.8 48 9.75 0. 00 1.35

54 00 UL G5 ORI/ LT 6. 50 2.90 0. 50 0. 50 54.0 0.0 0.0 54.0|  7,014.0|7 27 7V MR
95.8 48 ~  95.9 0 6. 50 0. 00 0. 65

[ VRIS BRORR /)N (L HT 6. 50 2.90 0.50 0.50 101.0 0.0 0.0 101.0 7,115.0|7 27 T h#i%e
95.9 0~  96.0 0 6. 50 0. 00 0. 65

4 ] VLIRS SR/ (LT 6. 50 1.75 0. 50 0.50]  100.0 0.0 0.0 100.0| 7,215 0|7 27 7 /v Ml
96. 0 0~ 961 0 6.75 0. 00 0. 20

4 ] VLGRS SR/ LT 6. 50 2.65 0. 30 0. 35 97.0 0.0 0.0 o7.0| 7,312, 0|7 A7 7 /v Mk
96. 1 0~  96.2 0 6. 30 4.35 0. 80

4 ] VLR HER /N LT 6. 50 2.65 0.30 0.35 45.0 0.0 0.0 45.0|  7,357.0|7 27 7V M
96. 2 0~  96.2 45 6. 30 4.35 0. 80

4 VLR R/ (LT 7.00 1.30 0. 00 0.75 0.0 0.0 25.0 95.0| 7,382 0|7 27 7 /v M
9.2 45~  96.2 70 7.00 1.30 0. 50

4 VLB R/ (LT 7.00 1.30 0. 00 0.75 16.0 0.0 0.0 16.0] 7,308 0|7 F7 7V AL
9.2 70~  96.3 0 7.00 1.30 0. 50

4 ] LS HRORT /I LT 6. 35 4.40 1.00 0. 00 40.0 0.0 0.0 40.0]  7,438.0 gtiézﬁg b,
96. 3 0~  96.4 0 6. 55 4.00 0. 50
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e 6. 35 4.40 1.00 0. 00 99. 0 0.0 0.0 99.0|  7,537.0|7 A7 7V M=
9%.4 0~ 965 0 6. 55 4.00 0. 50

4 T VLR SR/ LT 6. 55 2. 50 0. 45 0.50  111.0 0.0 0.0 1o 7,648 0|7 A7 7 /v M
9.5 0~  96.6 0 6. 50 3.95 0. 50

] LB SO L BT 6. 55 2. 50 0. 45 0.50]  100.0 0.0 0.0 100.0| 7,748, 0|7 A7 7 /v M
9.6 0~ 967 0 6. 50 3.95 0. 50

4 ] LR SR L BT 6. 55 2. 50 0. 45 0.50]  108.0 0.0 0.0 108.0| 7,856, 0|7 27 7 /v M
9.7 0~ 96.8 0 6. 50 3.95 0. 50

0 ] LR SR L BT 6. 50 3. 00 0. 65 0. 50 10.0 0.0 0.0 10.0]  7,866.0 ;Fiézﬁjz; R,
9.8 0~  96.8 10 6. 50 1.95 0. 45

4 ] LS SRCRF /I LT 6. 50 3. 00 0. 65 0. 50 0.0 0.0 26.0 26.0| 7,892 0|7 27 7V Pl
9%.8 10~ _ 96.8 36 6. 50 1.95 0. 45

4 0 UL ORI (LT 6. 50 3.00 0. 65 0. 50 68. 0 0.0 0.0 68.0|  7,960.0 ;iég%ﬁ;:ffﬁb
9.8 36~ 969 0 6. 50 1.95 0. 45 pa

4 7 UL 5 ORI/ LT 6. 50 3.00 0. 65 0.50]  100.0 0.0 0.0 100.0[ 8, 060.0 :&7{;%;5;%%
9%.9 0~ 970 0 6. 50 1.95 0. 45 ke

] LR HORR I LT 5. 90 3.35 0. 50 0. 50 99. 0 0.0 0.0 99.0] 8, 159.0 giézﬁg P,
97.0 0~ _ 97.1 0 5. 95 1.10 2. 10

] LR HEOR I L BT 5. 90 3.35 0. 50 0. 50 89. 0 0.0 0.0 89.0| 8 248.0 gkiéjﬁ;: P,
97.1 0~ 9.2 0 5.95 1.10 2. 10

] LR SO L BT 6. 10 1.95 0. 90 0.50] 121.0 0.0 0.0 121.0] 8 369.0 Eﬁiég% P,
97.2 0~  97.3 0 6. 30 3. 20 0. 50

] LR SR L BT 6. 10 1.95 0. 90 0.50]  100.0 0.0 0.0 100.0| 8,469, 0|7 27 7 /v M
97.3 0~ 974 0 6. 30 3. 20 0. 50
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